
set 3 AREA:  Lag B'Omer  start=88009 tc = 3033 numrows = 7 numcols
= 45 cyl_size 3033 comp = 3.150000e+002 (1,1)

Lag B’Omer xnra bl Meron oexin

The Rashbi iayxd

2/08:01lvx`nixvnhiepxd`z`ecilrininnixvnlrzercxtvdkze2/08:02
2/09:26bpyxy`nyipal`xyi`ldidcxaglyiedrxt`xwiedynl`le2/09:27
2/12:03aziza`dyzialn`ehrniziadzeidndyngwle`edepkyewd2/12:04
2/13:07rzninid`led`xiklvng`led`xiklx`ylkaklabzcbdeal2/13:08
2/15:07nkiglyzkpxgienlk`ywkaexgekit`nxrpenineavpenkp2/15:08
2/16:36xzidti`d`ederqielkzcripal`xyixacnnpiqndirqnlr2/17:01
2/19:11lyiiyikaneidyiylixcedidipirllknrdlrxdipiqabde2/19:12

    3033 xnrabl
          5 iayxd
        11 pexin


